Radicals — Multiply

vab=+a Vb

Strategy
Multiply radicals the same way you would multiply polynomials

Example +/3(2V2-+3) Example (2v3 +6)(3V3-2V6)

=2v6 -9 = 2v3((3V3 -2V6) + V6(3V3 - 2V6)
=2v6 -3 =18 -4/18 + 3V/18 - 12
= 6-18
= 6-3V2
Recall your special products (a+b)’=a’+2ab+ b

(a+b)a-b)=d’ -V

Perform the following multiplications and simplify.

1. V5{2-3V6) 2. 3W2(4V2-1)

3. 5V3(2v3-3y2) 4. 3vJa(a+ Vb)

5. (5V3+2)(2V3-1) 6.  (23+1)(5V6+2)
7. (V5 -1)(5VT +2) 8. (35 +2)

9.  (243-7) 10. (2V3-7)@2V3+7)
11.  @J5+D2V5-1) 12.  x+DWx-1
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